PAREy —ax-b o 227} o 28

B *%Uﬂ,a 4 <

rlr

@ a>0,b>0 @ a>0,b<0
@ a<0,b>0 @ a<0,b<0

® a>0,b=0

yl

By



y=-2x+b7t2 W, ab °] 727

@ 1 3 3

A 2



y

@ 71&717F -2 o]t

o] 1 oJtt.

I

®yA

Zojrt,

ke
® xAd#o] -

olt.

1
2



4.

T AAFEE 6x—3y-9=03x+ay+b=02 TPz} A
o, a+ b ©] gh-& Fotoi et

e =
-



B

@D 3



6. AAFEy=—ax+29 THEIFF A (1,1),(3,6) F Adrin
o, ab °] gt-2 ot}

e =
=%

2



7.

2
y=—§x+64:ﬂ1
®y=-x+3
1
@ y=4dx+ -

3

mo} HeYQl Tef =
1

@ y=§x

® y=-6x+1



S 71717k 24l y Aol thE Al dapekso] J1g o] gk

© RE 2mE A= A gt
@ a2 EAPE AR % 9 g,

@ A 2EdmL ¢ & golA whdt

@ A 2 % % A ol4be] Tz
G A JHEL mT A5}

3|
T

e
flo

A,



[N

\4
o

YA




10. o= dApedse] 2 F

@ y=-2x+10

® y=-6x+3

AN x Foll 7 77k A2?

® y=5x+4



